
October 8, 2019

1. Simplify the following expressions

4x + 9y -15y + 6x -3a2 - 4a + 2 - 6a + 9a2
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Distributive Property
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1.  Multiply each term on the outside of the parenthesis by each term 
inside of the parenthesis

a(b+c) = ab + ac

2. Simplify by combining like terms.

Examples:

1. 3(2x + 3)

2. -5(x-5)

3. 2w + 3(w+4)

4. 3j - 2(5j - 8) + 4

*If the number is positive, separate the terms with a plus sign, if it is negative use a 
minus sign
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More Examples:
4 + 3(2x + 9) 5 - (3x - 8)

6 - 2(4x + 3y - 6) - 9y 
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You Try!     

1. -3(x+2)

4. -8(3z+10) -10 + 4z

3. -5j - (2j + 6)2. -4(2x+3) - 7

5. 3(x-3) - 2(3x + 9)


